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Intro

Today we will 7’va learn 7 97 of DRt NoON
Some of the topics we will learn about include.

The discussion in p»w *17's opinion of

WY ROV 15N

mwd

If the nyw *Y5 with the blood of a nxvVM Moo was carried to
the nam for the sake of another Korban or owner, the
Korban remains Kosher, because 7297 is an

15025 TWORW NTAY

19517 is not 21w, significant, to cause the Korban to
become Pasul, because 159171 can be eliminated if one
were to Shecht the Korban right near the nam.

nynw 37 however does agree that 75100 nnpwH XKW 1917 in
cases in which the 7251 is required and is therefore, an
75025 JWOR *RW 772V

As in the case of

NPIION MIRON

The mrovn whose blood must be carried into the 5> and
sprinkled on the nomo.

And

pava o nohing,

The two spoons full of 125 that were placed with the onb
07107 on the 105w inside the Y1, and every Shabbos these
1212 were carried from the jnbw to the px’nn nam where
the n12% was burned on the nam.

And the discussion in which parts of the 5> and nwy
would this 7197 cause a %09,

The question of
M /2NN
If a w performed 1597, does the Korban become Pasul?

And the Machlokes as to whether this depends on the
Halachah of mowh 5w oo

DafHachaim.org
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12712 719°0 NO"N2

Which parts of the 5>n and m
would this na5n cause abpo
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So, let's review ...

The previous Mishnah discussed a Machlokes regarding
WY RO 19

If the nw "S> with the blood of a nxvVM Moo was carried to
the mawn for the sake of another Korban or owner;

The 3129 hold

WY RHW 1997

oo

The Korban becomes disqualified, because 10917 is one of
the four 077 M2y that bring about the 75ax 77 of the
Korban.

While py»w »17 holds

WY RHW 1997

Rk2e]

The Korban remains Kosher, because

mH>va% WoOR

7o is not 11wn, significant, to cause the Korban to
become Pasul, because no51 can be eliminated if one
Shechts the Korban right near the nam.

W5 12 PYHWY 117 says however

PYBY 227 77T

NN MRLN NoYIa

M2 NSO MwnHY

P»w 117 does agree regarding the mxovn whose blood
must be carried into the 52’71 and sprinkled on the N1,
that if during this 73571 the Kohen had a now’ Xo>w nawnn,
the Korban does become Pasul, because

75025 M1y PRY ATV RIN

The 19517 from the 771p into the Y211 cannot be eliminated.

DafHachaim.org
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The Korban remains Kosher, The Korban becomes
because disqualified,

nbvab ywon because n25n is
one of the four o1 MM2v

that bring about
the nb>oN yn of the
Korban.

é'/')//p S )
PYNW 129 NN
NMP21DN MRVN NOYMN2
N2 NYOID NAVNNWY

puow 123 does agree regarding the mnvn
whose blood must be carried into the 5>n
and sprinkled on the nono,

that if during this no5n the Kohen had a npw5 5w nawn,
the Korban does become Pasul, because

nNov2b 51> prw NIV NN

The nobn from the miv into the b>n cannot be eliminated.
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. And the Gemara elaborates, according to y»w *17, that the
area in which
19100 MPII07 MRV APYS ROV 19917 y
Would depend as follows: D
1. 1) J J )./
7725 715 920 PYPW 317 11 31N DR /
NOX M2 OOINA P2 IORT
If prow 27 holds like his son wnw *2792 MYHR 27 that the 0
area on the 27v» side, on the west side of the nam between
the nam» and o9, from the centerline of the 77ty to the pox o o
wall of the 7%y, is also considered 1193, then a
DYII9N MRVM NI NSV 72w PR
D399 D2IX MINOM ROR
Wb RSW 10917 would cause a :109 only from the entrance- e are
way of the 0% X and within, but not in the area of D981 2 on the 0
namy;
Because as Rashi explains
1 19997 H025 TWOR MY
D9INT ANO YIR VINWS
The o971 in this area can be eliminated, because the nxon
which requires 931 70w can be Shechted right next to
the entranceway of the oHx.

And Rashi adds
However, if pynw »27 holds like *ov °27 that
2T T30 ROK 1193 PR
. 7Y S 7Y N9 NN rpn
Only the area from the north side of the nan until the
northern wall of the 771 is considered pox;
Then w5 X5w 751 would cause a 5109 in the area a2
nam® oyRm, because
15025 M1 PRY ATV 7D N
anonw 1O VY DRV RIT
The 1957 in this area is required, because the nxvn can be
Shechted only on the pox side of the namn. ®

=
Il e DOIN

nam

0, e D
0 0 ee a eway o eD
0, e ed o D
@
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The Gemara also applies y»w '27's opinion regarding
WS ROV 1N to

P12 ;>0 non

Two spoons full of 113> were placed with the o197 015 on
the 05w inside the >0, and every Shabbos these p>1a
were carried from the j5w to the px'rn nam where the
nn3% was burned on the naw.

Now, if jwnw 127 follows the opinion of 77 °27 that
WIPH MY N

The entire area of mam> 09X 12 has the same nwiTp as the
naw, then

1212 >0 noina nbyws nawnm PR

PIM> 521 Inon ROR

WY Row 1917 would cause a 5109 only from the entrance
of the Y>11 until the entrance of the X, but X5w nobin
mwb would not cause a %109 inside the Y2, because
mown Dw 2wk Twa S 5w

The 195171 in the 511 is unnecessary, because the 75w with
the p>1a can be placed directly next to the 5>7n mno.

And mpw5 RS0 179571 would not cause a %09 in the area Pa
m2tn5 09N, because

YA NOZIHY 1PORAD TWOR W

The 125171 in this area is unnecessary, because the 7125 can
be burned directly next to the o9xm nno.

DafHachaim.org

@

The Gemara also applies pppw 123’s opinion
regarding nowb RbW nddin to

12712 719°0 NOMN

Py Two spoons full of nnab
W @~ wereplaced with the pon pnd
- on thenbw inside the 5o,
Shae and every Shabbos these p>12 were
\‘a carried from the nbw to the p2nn namm
where the n»2b was burned
on thenam.

Now, if ppow 127 follows the opinion of T 121 that

WTPN NAY TN
The entire area of P2t D5INA 2
has the same nwTp as the nam, then

T2 MDD NN NOVIL NIWND PR
yInb 5o nnon NON

npwb N5W nobhin
" would cause a 5po
only from the
entrance of the 5o
until the entrance
of the DR,
but
npwb NHw Nodin
would not cause
abpo
inside the 5>,

jndwn Dw 2wind Hw> bnn 5o nnw

The nobn in the b is unnecessary, because the |nbw
with the p»1a can be placed directly next to the >»ni nno.

And now)b k5w nohin would not cause a 5po
in the area narnb DhRN 2, because
TN NOXY by 1MwPnd IWER NHw

The nobn in this area is unnecessary, because
the n:ab can be burned directly next to the pbzn nno.
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And if pynw 27 follows the opinion of

N7 RT0 ODIR DN NwYTR @

;I; DX is on the same higher level of nwiTp as the 5, nd ol Unsos, the aviniom o

ROV TV PR R RTN 9N 9370 NWITP
PIN) O2IR ANON ROR The D5IN is on the same higher level of nwiTp as the 5o,
wH RHw 197 would cause a m109 only in the five Amos then

of the thickness of the 09x7 nno, but it would not cause a b N

509 in the 09X, because NIV NAVND PR

IN>WA DY 2WINY WD MW \’)Db) D5IN DNOY RSN

And this 7957 would not cause a 9109 in the area 0587 2

nam> because MWH RHY Nbn
YR NOXT 7Y 1P0RIY TWOR MW would cause a »ps

only in the five Amos
of the thickness
J ofthepinanno,

but it would not cause a 5po in the D5, because
Jnbwin pw 2winb HYwo nnw
. And this no5n would not cause a 5po
in the area natnb phnn pa because

NTVN NOXI DY 1PPPNd IWBR NN

O,

And % il /0%«/4/ the opinion o%
099> NNDN PN

And if py»w 117 follows the opinion of The thickness of the entrance to the Db is also on the

4

D195 N9 N

J ) same nW1Tp as inside the 5> DI,
The thickness of the entrance to the X is also on the

same W1Tp as inside the 52’ oYX, then . then

NNR 7091298 NHYI 72w PR D5V NIAVDD PR
T NOWIN TI1 ROR DNN NYDD 17DN
mwh Row o9 would cause a :100 only when passing the 1T DLWIN 172 RO
poia through the outer edge of oYRA NN into the 7wY. b ROW n2dIN

|| Thon pow I would cause a 5po
only when passing
thepa through
the outer edge of
D5Rn N into the
M.
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And if pynw 117 follows the opinion of

79917 W RS 5393 XYW 19N

To pass the 212 without walking is not considered 7257,
then

555 NS nawms PR

nwh R5w 1957 would not cause a 5109 at all, because

1T NOWIN is 9372 RSW 7.

The Gemara proceeds with a discussion regarding
W W27

What is the Halachah if a 3t performed 1257, does the
Korban become Pasul?

RTOM 17 says

Rl Pl

7wo

The Korban remains Kosher as we see in the Pasuk in 127
o

no9T NR VMW"

DT 07N DR D397 1M

DVWon OHM

The Kohanim took the blood from the ovomw who could
be o1, which indicates that o performed nobin.

The Gemara however brings proof otherwise from a
Braisa that states

nrialahibpinklpalra bR

500

Therefore, we must say that the Pasuk means

RIVIR TWYH TIVT

The owners merely held the blood for the Kohanim, but
they did not actually carry it.

Dedicated By:
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And %//)71/5 ) /e%wy the o/!u/uon/%
N9 NNW XY D292 RHW NOYIN

To pass the p>ra without walking
is not considered nobn, then

555 nbvw nawnn pN

?
M T2 NOMIN

What is the Halachah if a1 performed nab,
does the Korban become Pasul?

v
£70n P
972 NOYIN
NIvd

As we see in DN M2T
NoYS NN W
=i~R-mala g n=ah=alld
Diriren o
Kohanim took the blood from the mpmw who could be p»r,
which indicates that bt performed nobn.

Py

The Gemara however brings proof otherwise
from a Braisa that states

NP2 NOMN2 NHapa M it
710D

v
W%ﬁ&, wam«a‘wy/fw the Pasuke means

RAVXRR AVYN TIAYT

The owners merely held the blood for the Kohanim,
but they did not actually carry it.
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However, 9oy 27 127 both say

gl Pl

1327 YW 1 NPT

The question of 712 735171 depends on the Machlokes
regarding mwH RHW 7N

PP 27 who holds

WY ROV 7199

7wo

Also holds

pirheRn]

7rwo

For the same reason, because

15025 TWORY ATAY

N7 772D IRD

19917 is not considered an 7712Y because it can be eliminat-
ed. Therefore, it does not cause the Korban to become
Pasul.

While the 1327 who hold

WY ROV 7199

500

Also hold

pinhepin]

19709

Because

15025 TWORY 7TAY

N7 7Y

1991 is considered an 72y even though it can be
eliminated. Therefore, it does cause the Korban to become
Pasul.

Nevertheless, pynw 117 agrees that
imRyiolnit)

7w

Even though it's an 75025 TWOR "KW NTI2Y;
Because

N7 ATI2Y RS OTY

Shechitah is not considered an 7712, because
Either as Rashi explains because

291097793 121 IWINRTH

All oHoo are eligible to perform Shechitah.
OR, as Tosfos explains;

DWITR PHN2 MY 05

Shechitah is required even for P> animals.

Dedicated By:
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A
5290/' P - DP)
72 NN
1227 PYNWY 227 NPYNN

The question of 712 no5n depends on the Machlokes
regarding npwb R5W no5n:

While f/b&/m who hold

MY XYW NOMIN NNWYH RH>® NOMN
pale}o) NPWO
Ao hotd Ao holidy
972 NOMIN 912 19N
n"100 a9°99
Because For the same reason,
Nbvab YweRw NTay  NdVIL YWONY T

NN NTI2D NN NTI2D IND
Itis considered annmav even  Therefore, it does not cause the
though it can be eliminated. Korban to become Pasul.
Therefore, it does cause the
Korban to become Pasul.

v
Nevertheless, //)//\/é 7~y

agreey that
972 NONY

DRRUs
Even though it’s an nbvab YW INY NT2Y;
Because

NN NTIAD IRD hpmMw

Shechitah is not considered an nTay, because
734%01/ WPW Rushi explaing
POINS MEE D5 55 D3 MESHHTN
OE7PNN oOPDD
Shechitaty iy rWe/ AU pfoo are @@LM@
even /W /) animally. t W/armd/wc/w

tah.
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‘ And py»w 17 holds regarding
M wadh oaR N \ 4
o0 And gyt 7 holdy regardt
Even though it's an 75025 Tworw 171aY; e P2 WOl regar
It2 W25Y 0”aR NOMN

Because there the Pasuk specifies

NI POPM 57 DR JI7 2P 0D
Even though it’s an nbvab ywenw nTay;

And 2 pm refers to

w1dh 7R NN
sniai bnm o mx fron 2aem
ém/pnptﬁoﬁ)
e 7% Y

N Soh di d " N Perhaps even pppw 127 holds
MYOR "R RO however, disagrees and says that perhaps
even wnw 17 holds anDD 2 '-Dl”n
15100 2 19N Becawse ay Bashi W
Because as Rashi explains only regarding a nawnn 509 do ) nfyxr donty @ o3 foo do we say that an
we say that an kit i “y
750325 TWORW 7Y ODY3d HEDHE D73V
75O KH OdPD H5
E;[ ecgusfx:b OR IR PRT Because
12150 7YOR AN PR R , -
1997 is not necessary for the 7oK 91 of the Korban; ‘ D3 15D D55 M0 Ph7

. But regarding other %109 such as m, perhaps 2/ i not ng/ﬁf the /ot 1 % the Korban;

15025 TWORY ATIAY
505 But r /M?/ dther F'[Od M@ﬁ/?j, WW/
Because 1109 is still considered an may. OSP3D YEDHE D7N3Y

Obpp
Because 2o/ iy still considered an >3y,

Dedicated By: DafHachaim.org Zevachim 14-8




